Simplificando as expressdes expoentes (2 variaveis)

4 x y(—l) {4 (x6)3 3 (yz)(—l)

7 x y2x(—1)(x6)(—1)x2 ()}2)(—2)

Zx(—S) « y(—Z)(x?) « y3 )5
6 y(—3)(x2)2

3 x y(—3) 2 (x4)4x2 (y4)4

Encontro: Data: Pontuagao:

7 x DD x DY
4 YDy

D y(—l)(xS % 5y}

3% YD () DD 5,32

38 x y(—z)(x(—Z) x y(—2) )3
5 x YD (x(72))3

5xCH 5 D (10 x 1,03
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Simplificando as expressdes expoentes (2 variaveis)

4 x y(—l)x(—4) (X6)3X3 ()/2 )(—1)
4x17

y3

7 x y2x(—1)(x6)(—1)x2(y2)(—2)

)2

Zx(—S) x y(—Z)(x3 « y3 )5
6 x Y3 (x2)2

16 16
3

3 x y(—3) 2 (x4)4x2 (y4)4

3x16y13

Encontro: Data: Pontuagao:

4% D)

_7
4x25 yS

D y(—l)(x3 % 5y}

8. 14
Xy

3 x y(—l) 9 (XZ)(—2) 2 0,(-3) )(—2)
3y5
Y

5 x YD (x(72))3

3
5x8y7

5xCH 5 D (10 x 1,03
51414
Xy
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